Id

Question ¢irg & fohder A 2ld & 2
A 5

B 9

C 2

D 6

Answer |C

Id 2

Question | fRarreRy 3 wrgere WY T o119 & -
A hoteT afer

B oY gfey

C faaer afer

D SAH ¥ IS gl

Answer |A

Id 3

Question ‘g ¢, 3, 3 &l &1 TR & 2
A gFg T

B & TR

C IF TR

D SIH DI el

Answer |C




Id 4
Question | 3. Ut fohdel TFR & ga & 2
A ard
B 3S
C IR
D qrg
Answer |C
Id 5
Question fyQryur 3R fsT & AT & HiF - AT AT aoAar 22
A e

~ 9
B cdeed
C FHURYT
RO
Answer |C
Id 6
Question | T faf@d 3 & &I T TYFd Hotel oTal ¢ 2
A &7
B v
C T
D el

B

Answer




Id 7

Question EdTITd ﬂ' ng—d m chl ATH %—

A ToleT iy

B gur gier
C ay oy
D giee afyr
Answer |B

Id 8

Question |3 + gR & IeT ¥ HieT - AT g T 2

A 3dR

B IER
C 3ER
D 3R
Answer |D

Id 9

Question FeepR eree; # e 3TEA T FANT &3 & 2

A ad

~

B o
C JFg
D qeq

Answer |A




Id 10
Question fryy Ty & 37UTETT RS & ?
A TH o 0T & X & AR |
B HAlgeT T 379 TGT Agl oI |
C AT & 919 fASerdr g |
D qg A Bl HIel
Answer |C
Id 11
Question | A man said to a lady, ““Your mother’s husband’s sister is my aunt.” How is the lady related
to the man?
TS JEHT o HRA ¥ e, “qFeR Al & 9fd HT g AY 37 8137 3R #
HGHT & HY AT {Fe §?
A Daughter
hEL
B Mother
HATAT
C Sister
sgel
D Aunt
31T
Answer |C




Id
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Question

In the following, select the related word from the given alternatives.
Heat : Convection :: Space : ?

fFrfafed wea & v av fashedl & @ daftd e & gAw:
3SAT ; Hdgel ; : @lell o918 :?

Conduction
BEGE

Transference

TATART BT

Vacuum

fata

Radiation

CIETU

Answer

A

Id
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Question

In a certain code language, “he is game” is written as “@#*”, “good game play” is written
as “$*&”and “play that hard” is written as “!$%”.How is “good” written in that code
language?

frdY AT e 9T # “he is game” & “@#*” & T H, “good game
play” @ “$*&” & &I & 3iIX “play that hard” & “1$%” & ¥ H for@r 1T €.
dr 38 e o H “good” fhd YR for@r Sirwan?

&

*

O w| >

Answer

$
@
A




Id 14

Question | Cup is to coffee as bowl is
FT HHr & T g a1 5 Ferr &

A dish
UTelT

B soup
sl

C spoon
gJFHAT

D food
AT

Answer B

Id 15

Question |Ifin a certain language, COVET is written as FRYHW, then the code ‘SHDUO’ is used
for which word?
Ife T AfRad #18 @ & COVET & FRYHW for@r Sirar g, arf SHDUO
AIs fohd Asg & ToIT gAmer o aram g7

A QUAKE

B REPAY

C STINK

D PEARL

Answer D

Id 16

Question | If each of the letters in the English alphabet is assigned odd numerical value beginning
A=1, B=3 and so on, what will be the total value of the letters of the word INDIAN?
e 3T autATer & g% 3R & v wear @ g% g 5w A=1, B=3 3R
3T OF &Y s INDIAN T el AT fehcer grom?

A 86

B 88

C 89

D 96

Answer D




Id
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Question | Find the odd word from the following:
fAefafaa & @ favw o @i
A May
CE]
B July
I
C August
3T
D September
fadex
Answer D




Id
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Question | A is the mother of B. B is the sister of C. D is the son of C. E is the brother of D. F is the
mother of E. G is the granddaughter of A. H has only two children B and C.
How is C related to E?
A BHATE|BCH T DCHITE ED® S §|FEHR ATE
|G AFINE | HF daad T s=d B3R C & | C, E ¥ T Fafaa g2
A Father
e
B Son
Crd|
C Mother
Al
D Cousin brother
TR TG
Answer A




Id 19
Question
Which of the following represents such employees of Company X who are also
Government employees, but are not Scientists?
afaf@a #§ O id 9 X & W FHaRAT &1 yfafafaca &=ar § s
THRT HHAIRT 87 &, offehet dTfIh w87 872
f:;f;i;:eim Government
Employees
Scientists
A Dand G
D 3R G
B Only D
&del D
C Gand F
G3RF
D Only A
$del A
Answer B




Id
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Question

Statements: All laptops are computers
Some laptops are notebooks.
Conclusions I. Some notebook are computers
II. All notebooks are computers.

U G ATeIT Y §
Fo AU AeTF gl

fashy |. $o dAlegd FYR &

II. gl g Fge &

If only conclusion I follows

afg dael TS | IeTERoT T §

if only conclusion II follows

g Faa @y || 3eTavor Far §

if either conclusion I or conclusion II follows

afg ar a ey | ar sy || 3eaRor T §

If neither conclusion I nor conclusion II follows

gfe o ar fashy | AR o € SRy || 3eTavor #ar @

Answer

A




Id
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Question

Twenty students are standing in a straight-line facing North. Rina is standing sixth from
the left end. There are only three students between Rina and Shweta. Radha is standing
exactly between Shweta and Rina. Tina is standing sixth to the right of Radha. Anita is
standing fourth from the right end of the line. There are more than four students between
Rina and Tina.

What is Shweta’s position with respect to Anita?

3 I 3R Teh A W@ A 1 o s § | T 90 O @ 83 T W
o1 3R 3T & oI Shael AT 1T § | W7 Wepel 29dm 3R I & 7 @
g | 8T T & 15 3R S W § | IHeAdr S & qfgel DR F Y TAA
W T g | T 3R &1 & ST AR ¥ 3f0F oF § | IE0Ar & 9y 7 eddr
& ufa &= ¢ |

Sixth to the left

T IR T o&

Eight to the left
a1 3 A 3redt

Seven to the left

a8 3R ¥ Fradr

Ninth to the left
a8 3R ¥ Aldr

Answer

C

Id
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Question

Select the number pair in which the two numbers are related in the same way as the two
numbers of the pair given below.

35:6
3 TEIT SIS &7 IIT Y forgH af JEIU 38 R ¥ &fad § 38 i &
IS S Fr & FEI|

35:6

85:9

64:8

26:5

oiaQ w| >

120:11

Answer

D




Id
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Question

Select the word-pair in which the two words are related in the same way as the two word-pair.

Author: Book

3 Ae-GIA I TG HY [SFH @) oreg 3H e § ety ¢ i a&F 2rea-
oA

AGH: JEAh

Spider: Web
HADSI: HAhal &l STl

Doctor: Medicine

g\.I%I'ET: BIETEL

Mother: Son

AL 9T
3

Reptile :Crawl

wlge: Hor

Answer

Id

A
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Question

In a code language, SEDATIVE is coded as ATDESEVI. How would PERSONAL be
coded in that manner?

U&h g AT H, SEDATIVE & ATDESEVI & &9 & HIfed ar orar g1 39
adies & PERSONAL &8 shifsa forar seam?

OSREPLAN

SOREPLAN

SOERPANL

g Q w| >

SOPERLAN

Answer

B
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Question

Arrange the following words in a logical and meaningful order.

1. Cloud

2. Rainbow

3. Devastation
4. Rain

5. Low pressure
6. Flood

fArafaf@a oeel & e aifsse 3 s FH # gafeug Fi|

1. A9

2. oIy
3. derer

4. ST

5. &H G419
6. dl¢

1,5,4,2,6,3

5,1,2,4,6,3

5,4,1,2,3,6

g a w| >

5,1,4,2,6,3

Answer

D




Id 26

Question |In the following sentences a word or phrase is written in bold .Choose the
word nearest in meaning to bold part.
She upbraided the little girl who got frightened .

A Make tails

B Make up

C Scolded

D Handed

Answer |C

Id 27

Question | Select the word that is most similar in meaning.
Prosaic

A Uninspiring

B Poetic

C Exotic

D Imaginative

Answer |A

Id 28

Question |Choose the correct alternative out of the four
He is very good -------- making stories.

A In

B About

C at

D For

Answer |C




Id 29

Question |In questions choose the word opposite in meaning to the given word
Genial

A Stupid

B Stingy

C Boorish

D Unkind

Answer |C

Id 30

Question |In the following questions, some parts have been jumbled up. You are
required to rearrange these parts, which are labeled P,Q,R and S to produce
the correct sentence
The concept of death , that it has been reduced/(P), as an inevitability /(Q), is
so ancient / (R), to a cliche /(S)

A SPRQ

B QRPS

C SRPQ

D QPRS

Answer |B

Id 31

Question | Pick out the most effective word from the given words to fill in the blanks to
make the sentence meaningfully completed
Authority ------------ when it is not supported by the moral purity of its user.

A Waits

B Crumbles

C Empowers

D Prevails

Answer |B




Id 32
Question |Select the option which contains the correct sentence among four
A It is high time he will start earning
B It is high time he started earning
C It is high time he starts earning
D It is high time he has stated earning
Answer |B
Id 33
Question |In each of the following questions, choose the correctly spelt word
A Tentaitive
B Tentative
C Tentitive
D Tantitive
Answer |B
Id 34
Question |Only when ------- failed , the police restored to --------
A Efforts , power
B Arrests, imprisonment
C Persuasions , force
D Power , punishment
Answer |C
Id 35
Question | Write the correct Direct indirect
He said to his father, "Please increase my pocket-money."
A He told his father, "Please increase the pocket-money"
B He pleaded his father to please increase my pocket money.
C He requested his father to increase his pocket-money.
D He asked his father to increase his pocket-money.

Answer

C




Id 36

Question
26 men can complete a piece of work in 17 days. How many more men must
be hired to complete the work in 13 days?
26 &Y Ush A 1 17 feat & qu & T 81 13 feat & &1 qu
T o T 3 Tohdel o9 I A 9T [T 1gU?

A 9

B 8

C 6

D 18

Answer |B

Id 37

Question
A certain work can be completed in 100 days by a certain number of men.
But, due to the absence of 10 people it could be completed in 110 days. How
many workers were employed initially?
T S Fo AfFaal earr 100 =t & qur fohar S Fehdr |
foheq 10 cafFaar & Iguieafd & #RoT a8 110 = & U &
UTT| UREH H fohdel SIfdFd A 9T oMU I0?

A 100

B 110

C 55

D 50

Answer |B




Id 38

Question
30% of first number is 75% of the second number. What is the respective
ratio of the first number to the second number?
Ugell TEAT &l 30 TTAAT GEl FEAT &l 75 TiAAT &1 Igoll HEAT
T GO TEAT ST FAT I &7

A 5:2

B 5:3

C 25:14

D 15:16

Answer |A

Id 39

Question
A watch sold for Rs.1440 at 10 % loss, at what price it should be sold so as
to earn 15% profit.
Teh T3l &l 1440 & H 99 W Teh Ffdd A 10 giderd g gidr
g dl 98 39 fohdet &9 A 99 f6 38 15 gfderd ot gi?

A 1820

B 1830

C 1840

D 1850

Answer |C




Id 40

Question
A dishonest dealer professes to sell his good at cost price, but he uses a
weight of 800 gm. For one kg. Find his gain percent?
Teh SSHNT GhliaR $hd FHed T Seel T ardl Hicl ¢ oAfehel T8 1
ferell shr STarg 800 IMH &Y Tleldl &1 3Hehl oIreT YA adrsv|

A 20

B 25

C 40

D 10

Answer |B

Id 41

Question
Cost price of 21 objects is equal to selling price of 15 objects. What is the
profit?
21 TEGIHT #T HT Fed 15 TE3NT ® GhT Hod & e g1 o1
gfcerd gram?

A 25%

B 30%

C 33%

D 40%

Answer |D




Id 42

Question
On selling 36 oranges one incurs a loss equal to selling Price of 4 oranges.
What will be the loss%?
36 HR U T Ueh Bl fdshcl &l 4 AR & TIhT Hed & s
gifeT BT &1 38T g Jfaerd ar gem?

A 10%

B 34%

C 130/0

D 14%

Answer |A

Id 43

Question |A man purchases two watches at 560. He sells one at 15% profit and
other at 10% loss. Then he neither gains nor lose. Find the cost price
of each watch.
Teh 3MEHT 560 W & afzdl f Wlie war &1 98 15% o W Th
o99dr § 3R 10% g 9 3| T g o ar o 3R o €1 gifed
gl 9cdeh TSl I NI Hed Ad Hiiov|

A 224, 300

B 200, 300

C 224, 336

D 200, 336

Answer |C




Id
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Question

A shopkeeper earns a profit equal to the selling price of 11 meter by selling
33-meter cloth. Find the profit percent.

Ueh gehleiaN 33 HIeT usl Sl § 3R 38 11 A wus & Ay
Aed & SR T g3 | 3| ol gfaera a1 ghem-

50%

52%

45%

o Q| w| >

55%

Answer

A

Id
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Question

A person sells two objects in Rs 5000 each. He sells one for 20% profit and
another for 20% loss. Find his total profit or loss percent in the whole
transaction.

T AR & 5000 94 9fd a&] #T 7 & a a&qu 97 &) T
aE HT gg 20 FfANT HT g W TAT g TG FT 20 gfAUd H
T W 9T a1 &1 R Hid 7 38 et ufdera &« ar gifer &

4 % profit
4 % oIH

4% Loss
4% gifa

20% Profit
20% oITH

No Profit and Loss

o ar o o gifa

Answer

B




Id 46

Question
A fruit seller buys lemons two for Rs 1 and sells at 5 for Rs 3 rate. Find his
profit percent.
Teh ol Tashal 1 &0 # & & A 4 g Tledr & da1 3
H 5 & GHE § 3eg ST §1 3HHAT omeT Fiaerd &-

A 10

B 15

C 20

D 25

Answer C

Id 47

Question
A shopkeeper sells a TV set on discount of 8% of printed price and gains
25%. If print price was Rs 20,000 then, what was the cost price?
U gahlel o 3ifohd Hed W 8 Ul T od gU &.dl dT 94T 3R
25 gfaRrd oy AT Iie 3ifHd Fed 20,000 T4 A7 AT I
Hed 1 q77?

A Rs 13,800

B Rs 14,720

C Rs 14,800

D Rs 13,720

Answer |B




Id 48

Question
The ratio of the present age of A and B is 4:5. The sum of their age after 4
years will be 80 years. What will be the ratio of their age after 4 years?
37 AR § T TAA G H AT ¥:9 § | TR a¥ die 3eTehT 31
T AT ¢o IY RN Al TR IY dTc Sofehl Y HT AT FAT M7

A 11:9

B 9:11

C 3:4

D 1:2

Answer |B

Id 49

Question
The ratio of the age of Ram and his son was 4:1 before 5 years. If the total of
their present age is 45 years. What is the Present Age of son?
TH 3R 3FH T A 6 g 6T 3G & 8:2 HT 36U 41 | I
dAHT H 3eTehl 3 T 19T ¥ aY g1 ol aadleT # 97 1 Ay
T 372

A 10

B 9

C 12

D 7

Answer |C




Id 50
Question
Ten years back A’s age was half of B’s age. If their present age ratio 3:4.
What is the sum of their present age?
e aY ggel '3 Y T MR oA I STk adA Y A 3y
T 3T § @ 3eTehl didAleT 3T 1 AT T GHaM?
A 45
B 25
C 35
D 40
Answer |C
Id 51
Question | With which Bank, Freecharge has launched a Digital credit card?
fra d& & Ty, hrare A e SSfica #fse w5 dlea fRar g2
A Axis Bank
ufFad d&
B HDFC Bank
TISIURAT deh
C ICICI Bank
TSI SF
D SBI
THAITG
Answer A




Id
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Question | How many new medical colleges have been approved by the Union Cabinet by 2021-22?
FAT FAHASH o 2021-22 TF fhdsr AT ARZFH Ficiall b T F1 HLr &
g?

A 45

B 95

C 85

D 75

Answer D

Id 53

Question | Which day was celebrated as National Sports Day in India, on the birth anniversary of
hockey legend Major Dhyan Chand?
g fod o1 gIhT & HAGTIIS Ao &ITde &l Siidl 9T ART H TS Tl
feaa & ®9 & Famr Srar g2

A 29 August
29 3IrEd

B 28 August
28 3

C 26 August
26 3IET

D 22 August
22 3

Answer A
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Question | What is the Name of India’s first woman Director General of Police who has passed away
recently?
HRA T ggell Afgerm gfow Agifacws &1 A Far § S g1 & # e
g ar?
A Janaki Venkataraman
STeTehl dehedHad
B Savita Kovind
afaar #ifde
C Rajvanshi Devi
Toraeht ¢ar
D Kanchan Chaudhary Bhattacharya
$ad TR Heedard
Answer D
Id 55
Question |In which city, India’s first garbage cafe will be opened?
fre @Y A $IRT & 9gell FHaAT hh Grell SATTIT 2
A Pune
qoY
B Ambikapur
C Indore
D Mathura
U
Answer |B
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Question |How much amount has been released by Centre for afforestation to various states?
faffea T A Teliaor & AU e & fohdelr Ui SR &7 82
A 44,436 Crore
44,436 IS
B 45,436 Crore
45,436 IS
C 50,436 Crore
50,436 3
D 47,436 Crore
47,436 IS
Answer D
Id 57
Question | Which E-commerce company has decided to stop using single-use plastic in packag1ng‘7
frg AT FUN F BT # Rera-gor canfees &1 sEAATA d A &7
el fhar g2
A Amazon
AT
B Flipkart
eraenre
C Justdial
ol&C STl
D IndiaMART
SIERIE I
Answer B
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Question | According to RBI annual report 2019, Value of bank fraud cases increased ,
from Rs.41,167 Crore in Financial Year 2017-2018 to Rs.71,543 Crore in Financial Year
2018-2019.
IRA3MS @ affier RAE 2019 % I7AR, o G@medy & AAc F Ao

g¢ I3, AT a¥ 20172018 H Rs. 41,167 IS H Jeahd g a9

2018-2019 # Rs.71,543 &S gl a74|

A 73.8%

B 70.8%

C 78.8%

D 79.8%

Answer A

Id 59

Question | Who won a Gold medal at the Shooting World Cup in Rio de Janeiro in the 10m air rifle
category?
frast 10 HieT T Tste T # R & F@ARAT 7 gfider [eg &9 &7 Faof
g Sl

A Elavenil Valarivan
CICICENCEINEE]

B Manu Bhaker
Hol HTHY

C Rituraj Singh
ESUERE

D Gayathri Nithyanandam
AT AT

Answer A




Id
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Question | In which state, 25th Senior Women’s National Football Championship will be held?
fore ergT & 25 &1 WX Afgem TSET Pealor AIART IMATSIT Hr FTwan?
A Andhra Pradesh
3T gaer
B Madhya Pradesh
qET Ser
C Arunachal Pradesh
ke Srolerea)
D Uttar Pradesh
ESRECR]]
Answer C
Id 61
Question | Air India will ban the single use Plastic from .
TR sf3ar q Thel 3UAIT Tollfcd W gfaser o9 2aft)
A 9 September
9 fadex
B 2 October
2 AT
C 25 September
25 fadeT
D 12 October
12 3eceiX
Answer B




Id
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Question | Ajantha Mendis has announced his retirement from all forms of the Cricket. He is from
which country?
AT A3 A Thehe & FHT WIFUT § FIH oA FHr aivom H gl 95 R g
q
A Nepal
SqTel
B Bangladesh
diTeeer
C Sri Lanka
Hreren
D Bhutan
st
Answer C
Id 63
Question | Abhishek Verma is related to which sports?
HfAYF gAT fFE @ @ F@EfRT &2
A Archery
B Shooting
grfear
C Javelin Throw
Tl theh
D Discus Throw
TFhT theh
Answer B




Id 64
Question | International Cricket Council (ICC) has suspended Cricket.
HRTSET forsbe ot (3msa) 2 frahe &1 fcifad X f&ar g
A Pakistan
BUETSIGH
B Bangladesh
CIECICH)
C Nepal
SqTeT
D Zimbabwe
SFared
Answer D
Id 65
Question |Ram Chandra Paswan has passed away recently. He was the
THTG 9r9dTd HT gl & & [F4sT g aam| a8 |
A Scientist
CEIIEED
B Producer
IGEIGI]
C Director
foacers
D Politician
TsTerdr
Answer D




Id
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Question | On which day, Bureau of Police Research and Development (BPRD) has observed 49th
Foundation Day?
fore G 1 <ZU 301 gferw REd U5 Saaude (N3RS & 49 a1 TA19=r
fGaw Femar 82
A 27 August
27 IET
B 28 August
28 3ITET
C 29 August
29 3
D 25 August
25 3ITET
Answer B
Id 67
Question | Which country has become the first country in the world to issue Biometric Seafarer
Identity Document (BSID), capturing the facial bio-metric data of seafarers?
HITAT 22T TAT FT gl 2 §o1 T g [T Afdh & BIAIT drAHACH Ser
HI TIE W dAATEH Afdd Ugded gTdrdst (SIU3Es)) SR R 82
A China
Zic
B India
ARG
C Japan
SITTeT
D Russia
*&H
Answer B
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Question | Who inaugurated the "THE TOY BANK" classes?
e g e d&" Fam3t &1 e fha?
A Prakash Javadekar
YehTel SITA9hT
B Arjun Munda
35l HaT
S R )
C Smriti Zubin Irani
T SfeeT el
D Thawar Chand Gehlot
Yrax Te IMgelld
Answer A
Id 69
Question | Banjari village of Katni district became an integral part of the digital map of the country.
It is located in which state?
fheair STl &1 s9IRT alla &2 & f3foce AT &1 v 31ffee 3797 a1 I=m|
I8 5T U 7 =g 82
A West Bengal
qad  §3el
B Odisha
e
C Madhya Pradesh
HqET wer
D Rajasthan
TSTEATT
Answer C




Id
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Question | How much lakh crore rupee, Reserve Bank of India has decided to transfer as dividend
and surplus reserve to the government?
ARAT Rd dF o WER & rarer 3R 3y 3RfaT & §9 & fhas omw
S FIY FEAANRT el T A0 fordm 872
A 1.76 Lakh crore
1.76 G &S
B 1.56 Lakh crore
1.56 @ &S
C 1.86 Lakh Crore
1.86 @ &S
D 1.26 Lakh crore
1.26 M@ &S
Answer A
Id 71
Question | In which city, Prime Minister Narendra Modi launched the $4.2 million redevelopment
project of the 200-year-old Lord Sri Krishna temple?
foha ereT A, g g AT @ 200 ATl el HITalA AhsoT AT dr 4.2
fAfore  sieR &1 gaAfden aRTSTAT o1 ey fohan?
A Manama
HATAT
B Abu Dhabi
g el
C Islamabad
STATHTEIG
D Dhaka
[[EN
Answer A
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Question | In which country, Prime Minister Narendra Modi launched the RuPay card?
fore S # wereT & g A o ¥ HIS N AN A1
A Saudi Arabia
S ETAN IS
B UAE
C Afghanistan
BT TIETT
D Bahrain
Sglle
Answer B
Id 73
Question | Who has won the 129th Durand Cup at the Vivekananda Yuba Bharati Krirangan in
Kolkata?
fohdet dIerhlcT & fadaleic Jar R SISE & 129 df g8 w9 Sfidr g2
A Mohun Bagan
HIgsT STaTTeT
B Army Green
AT AT
C Salgaocar FC
TR THEAT
D Gokulam Kerala FC
IMeeld HIT THAT
Answer D
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Question | Who has won the Bronze Medal at the BWF World Championships 2019 in Basel?
fraa e # digseyus faed AMARAT 2019 F FET ggah ar 82
A Sai Praneeth
s yoftd
B sameer Verma
AR gAT
C Kento Momota
el AMAET
D Anders Antonsen
TsE TCIAdeT
Answer A
Id 75
Question | In which city, Amazon opens its largest campus in the world?
fra e H 3ASI A fa'9 &1 3(9aT a8 J37 IRET @rell 72
A Hyderabad
geIeTe
B Hisar
feaR
C Lucknow
[SEEE R
D New Delhi
75 feoelr
Answer A




Id
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Question | SEBI has announced a reward of up to rupees for informants willing to
provide credible information regarding insider trading cases.
el o 3AEEST SS9 AFCl & aR & [Aeaeg SR el i & T
AU & faw ¥IY T & SAT FI GVOT H g
A Eight Crore
3T U
B One Crore
T IS
C Seven Crore
qrd S
D Four Crore
IR TS
Answer B
Id 77
Question | Who launched "Fit India Movement,?
"fthe g3 Fade” &1 YRS fHaar fhar?
A Raj Nath Singh
Ty &g
B M Venkaiah Naidu
TH dehdl A1g
C Ram Nath Kovind
THATY HIfdg
D Narendra Modi
g A&
Answer D
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Question | In which city, Indian Coast Guard held a High-Level Meeting (HLM) with the Sri Lanka
Coast Guard?
frd Y A AR TcteTeh g1 o Aol dc BT & 91y Teh 3Id-Ea{d
d&& (TAUATH) TSI HI?
A Jaipur
IR
B Kolkata
hloTehTcT
C Mumbai
S
D New Delhi
7S foee
Answer D
Id 79
Question | Who has been appointed as the President of Paytm?
o 9diTa & 3rewel & &9 H HgEd o amm g2
A Rajiv Kumar
T g
B Sarada Kumar Hota
IRET FAR grer
C Ravinder Takkar
IfdeT TF
D Madhur Deora
AYY SasT
Answer D




Id
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Question | Union Minister of Civil Aviation Hardeep Singh Puri announced that the Hollongi Airport
will be completed by March 31, 2022. It is located in which state?
hTT AR 335 HAT g g qU o ©§um o gleliel garg 3MgsT
31 AT 2022 Ak Q& Seen| I8 fohd T & Bya @2

A Arunachal Pradesh
kira | crolierea)

B Andhra Pradesh
3TET ST

C Meghalaya
ATe g

D Sikkim
RETTa

Answer A

Id 81

Question | On patrol, vigilance is important. Name the main reason for this:
e ENTeT HAShaT 12T ¢, Tt H&T FROT qg=faw |

A Increased officer job satisfaction
HART & FJsedr & gefa

B A reduction of necessary patrols
3TERYeh I - §&AT H Heldr

C Higher fees charged for security services
I QT & AT 3= Yok agell

D Ensuring a safe and effective patrol

RI&T 3R gorrdr ared

Answer

D




Id 82

Question |Regarding temporary passes, what is a security officer's main duty?
IEYRAT JATT & HeY H GG ATURRGT GHEG el F4T7 ¢ |

A Enhanced efficiency through pre-prepared passes
Wﬁwgcﬁ%rﬁ%waag‘é’am

B Only issuing passes to first-time visitors
hdel TgelaR 3aAdTel 3ITdeh T FA”A IF RN FHIeT |

C Using only capital letters to make passes easier to read
hdel I3 &P 3TN Y dlfeh JAA T TGaAT 3T @l |

D Ensuring that each pass is signed out and returned when visitors leave
I8 GARHd e & T &1 yoden JaaT FaaiRd § 3R 3miget & =o
ST dlerT v |

Answer D




Id 83

Question | When might the use of force be judged as not reasonable?

SolehT 39T fhe aRTEYU & 3rgfad gl ST Fehdr & |

A When it is used to carry out a search
S @Il Al & foIT g@eRr 39T fohar S |
B When it is used to prevent or stop a crime
SIS SHT 3TINT 3URTE &l Aehet & foIw fham STar g |
C When it is used to protect yourself or another individual
4 ¥9T UGH g IfdFd & 919 & [T gHehl 39T fham S0 |
D When it is used to make an arrest

S FTRTART & a&d 3@ 39417 fhar ST |

Answer A

Id 84

Question | Identify the correct phonetic alphabet for “PFT”
d1.U%. & (PFT) & foIT T@@r €aearcds quiATeT ST Tgdled &Y -

A Piper-Flower-Tiramisu

B Peter-Flight-Tactical
deX -FelSe -CFerehdl

C Peppermint-Focus-Touch

D Papa-Foxtrot-Tango

Answer D




Id
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Question | Unauthorized property is discovered during a search. Identify the first step an officer
should take:
'Teh Gl & NI 3eATteha U T Giel o St 8] 3fterieenr ferw arw
JUH 39T dT 9gdiT hIfST |-
A Deny site access and hold the property in question
&1 JfAITH AT 3R Iod Ui foarrede WG |
B File a police report but allow the person to retain the property
giord RAlE oY Afthet eafed @ Guf o0 T@el T AT |
C Give the unauthorized property back but request oft-site disposal
AR Hafd aqd 3, Afshet 377 817 # et &1 3Ry #Y |
D Request to know why the person is in possession of the property
Ig Slelal T I A foh, AT & ool H U F3T ¢ 2
Answer D
Id 86
Question |Regarding incident reports, identify the true statement:
geoT &l RO & TR H,, Gg7 HYUT &I IgdiT &y -
A At least one other security officer must witness incident report completion
FAY FH TH I JAHN F gear H R QA g d& q@el ey |
B It is acceptable for an officer not involved in the incident to complete the report
TSl H AT fAer 3feicerT RO qQft el F&6er § |
C Signing and dating is the responsibility of the officer completing the report
Tarerr T feeeh forgetr, RoiE qff shdetarel 3R & fSeaer & |
D The report must contain the home addresses of all involved parties

R & g sfFEafoa afFaat & e &1 gar g =fzoe |

Answer

C




Id
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Question | Assignment instructions can best be described as:
w & A Ge 3D & F Aedeery aftia fFar o a&ar § |
A A necessary manual allowing officers to carry out their instructions
Teh JTaegen A Gieaer St 3Rl & 3ve fdei & @ e &
3TATT S § |
B Operational procedure rule details
TaresT gfshar T faaxor
C An employment contract
Th SR e
D Health and safety assessment records
Y 3R GR&T Hediched AT ARG
Answer A
Id 88
Question | What is the main benefit of access control?
AR AT T HET ey AT |
A Site visitors are permanently recorded
8 oI TR T AR T Y ¥
B Health and safety legislation compliance
FATELY 3 GIET Flofel T IHe]dTeled
C Enhanced timekeeping records
AT To el & 3o # gur
D Reduction of criminal activity

o arfafafear & s

Answer

D




Id 89

Question | Where should brief details regarding incidents or activities be recorded?

geaT A1 Afafafiar @ witca faavor gor frar S afev |

A Search register
g afsren

B Duty sheet
ERERCE

C Patrol log
e aferehr

D Site log

& dferehr

Answer D

Id 90

Question | Which of these types of patrols is not officially recognized?

SH YR $r et & nfOwRe div 9T gganT 78 § |

A Occasional
aARS

B Initial
URAS

C Subsequent
HETAT

D Specific
CIEL

Answer A




Id
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Question | When an arrest is required, which of the following must be provided to the individual
under arrest?
S IRFIRIH 3aeTendr gl 8, @ T &7 & 58 FRwaRr cafea & uere
fopar ST =g |
A The location of their detainment
3 B @1 TUH
B The reason for which they are being arrested
Ioleh TIRTARY &1 HROT
C Telephone access for calling legal representation
FIAT FTAATE HT Jolll & T e & IudNer S giaem
D Details regarding their statutory rights
3 duTfaes SR & I’ # faaor
Answer B
Id 92
Question | At a crime scene, what must be done to preserve evidence?
HRY Tl W, Tl T AT A & v a7 fohar e =g |
A Collect, store and label all items in plastic bags
Tellieesh 1 Aol & @3l a&g3it &l sohoor, Haafed 3R 3ifehds &l |
B Patrol the crime scene to ensure all criminals are gone
Tl IR & T ST H ARG i & AT, 37RTer Tl W IR H |
C Keep careful notes on what has been left behind, moved or taken away
S &1 o8 far am €, §err I g 3R o ST IR g, 39T Jraurer ¥
feoaoit 39 |
D Help investigating officers by cleaning up the scene

T FT ABS b, ST Fleh, ol TURRIAT T FEEIT Y |

Answer

C




Id
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Question | Choose the best definition of a false alarm from the following:
PRl 3 ¥ S AT B T e R |
A An alarm only emergency services can deal with
Teh Iddeil ST haol TITdTelled Aar3t & fAue dohdr ¢ |
B An alarm which has been triggered by a member of the general population
T AdIgell S FTAT EET & T e T IR fohar aram § |
C An alarm which creates an unnecessary response
U ddlaell ol Araeds gfafhar der +edr ¢ |
D An alarm which needs to be ignored
Teh ddTdell [l FASR3IGNT el $l SId ¢ |
Answer C
Id 94
Question | Completing incident reports properly is very important. Which of the following is a main
reason this is true?
geaT $T fqarolt @l S @ QU S Tgd HgcdqUl ¢, $Hh! Tedaish &
rfaf@a # & Fi9ar & 7T FROT ¢ |
A It prevents any legal action being taken by involved third parties
SHH AMH A T&TGRT $T ST @ Felell HRATs I Uhel |
B It provides a permanent record of incidents
Ig eIt T TR AT Yol T § |
C It allows all involved parties to agree on precisely what occurred
Ig gt enfAe uedr i, afed geaAr W HgHAT AT § |
D It prevents any different viewpoints from coming forward regarding an incident

g fRaY oY 37T TREHIVT P TeaTT & T H 3E 3 & Aohl ¢ |

Answer

B




Id
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Question | At sites with visitor-search policies, which of these is a minimum requirement?
(A) (B) (C) Full details are provided as to what a search might involve
TR & TIeT ATl arel T 3R, o=t @ Hldll g d MaRehe ¢ |
A An informative sign is displayed regarding search policies
@t Afet & day # vk gao R veRia fmar aar @
B Visitors are informed in advance through a letter
IRt & AR 9T & GRT Froad fmar Sirar ¢ |
C Full details are provided as to what a search might involve
qot T geret R Siar § 6, @t 7 enfAe @ @ehar @ |
D Every single visitor is searched to ensure policy fairness
fAch fAsdetdr & fov &3 U 3mIde & TS ST ¢ |
Answer A
Id 96
Question | On patrol, what is a security officer's first priority?
T & T, GR&T AAFR H FAfAwer Far gy AR |
A Preventing property loss and damage
U & JhaTel dUT &7fd &l Aeha |
B Ensuring their own safety
39l & AT F |
C Preserving site integrity
TI FI IESAT H WAT LT |
D Ensuring others' health and safety

GOl & TATEXg 3R GRET A FARTT e |

Answer

B




Id
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Question | What should a security officer do before beginning a patrol?
I YE A F Tgel T ISR AT FI7 FEA AR |
A Discuss shift patrol numbers with co-workers
TEhiAdl & Ay RAFe ey Jai W =T |
B Let the control room know they are beginning a patrol
foT=or a7 AT GRIT FT 6, T 79T qF T E § |
C Ensure that visitor passes match previous-shift records
giAfRaa &Y o, 3mrges aw Ao aifd & i@ @ A @rdr ¢ |
D Review the accident log to learn about previous shift activity
ol greieh!, fafaf®r & aR & Siee & foU geear e 6 gateT & |
Answer B
Id 98
Question | Which of the following is a PPE (personal protective equipment) which might be required
by a security officer?
fArfaf@d & @ FlAar vh FfFIITd GI&T 3UH0T &, Foraehr gram sy
I TARISRAT & Tohal ¢ |
A Key card
Foll IS
B Record book
9
C Wet-weather gear
3 Al & fav 3R Fas
D Personal communications device
IfFdeTd GUYUT 3YHIOT
Answer C




Id
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Question | Which of the following is a primary security officer responsibility?
PR # @ P GeaT AR B grafHe Seerd ¥ |
A Observe and report crimes
3roRret s fARETT 3R TR
B Support and assist first-responder emergency personnel
gUH Fiafhar aTddrellsl SiAdicl TEAET AT TEIAT FaT |
C Protect the people, area and property to which they are assigned
g ferd, el 3R Fufd T et yee Her o 3¢ foeaed &1 718 ¢ |
D Oversee who leaves and enters their assigned area
I fAUIRA &1 # Rl & 3aemdl W Jok 3@
Answer C
Id 100
Question | Identify the true statement pertaining to confidential information:
TMNIAT FAAT & FE H Hcg HhUeT I Tgale] Y |
A It can be discussed with trusted friends, family and co-workers
3gehr faearear A9, S aur FghiAal & a1y ool F Fhd ¢ |
B Holding confidential information is unnecessary for a security officer
MU FIT e g & T @A T FUaT AP & fow Ierwd ¢ |
C The consequences of disclosing such information can be serious
SH TRE &I ST T Gl HA & GROTH 1R g Hevel & |
D Disclosing such information to unauthorized persons is acceptable

Teh 37ATeiehe] chidd Sl $H TG T STeAhRI I GATHT FeT T g |

Answer

C




	In a certain code language, “he is game” is written as “@#*”, “good game play” is written as “$*&”and “play that hard” is written as “!$%”.How is “good” written in that code language?
	Which of the following represents such employees of Company X who are also Government employees, but are not Scientists?
	Select the number pair in which the two numbers are related in the same way as the two numbers of the pair given below.
	35:6
	उस संख्या जोड़ी का चयन करें जिसमें दो संख्याएँ उसी तरह से संबंधित हैं जैसे नीचे दी गई जोड़ी की दो संख्याएँ।
	35:6
	Select the word-pair in which the two words are related in the same way as the two word-pair.
	Author: Book
	उस शब्द-युग्म का चयन करें जिसमें दो शब्द उसी तरह से संबंधित हैं जैसे दो शब्द-युग्म।
	लेखक: पुस्तक
	Arrange the following words in a logical and meaningful order.
	1. Cloud
	2. Rainbow
	3. Devastation
	4. Rain
	5. Low pressure
	6. Flood
	निम्नलिखित शब्दों को एक तार्किक और सार्थक क्रम में व्यवस्थित करें।
	1. मेघ
	2. इंद्रधनुष
	3. तबाही
	4. बारिश
	5. कम दबाव
	6. बाढ़
	26 men can complete a piece of work in 17 days. How many more men must be hired to complete the work in 13 days?
	26 पुरूष एक काम को 17 दिनों में पूरा कर सकते हैं। 13 दिनों में का पूरा करने के लिए और कितने लोगों को काम पर लगाना चाहिए?
	A certain work can be completed in 100 days by a certain number of men. But, due to the absence of 10 people it could be completed in 110 days. How many workers were employed initially?
	एक कार्य कुछ व्यक्तियों द्वारा 100 दिनों में पूरा किया जा सकता था। किन्तु 10 व्यक्तियों की अनुपस्थिति के कारण वह 110 दिनों में पूरा हो पाया। प्रारम्भ में कितने व्यक्ति काम पर लगाए गए?
	30% of first number is 75% of the second number. What is the respective ratio of the first number to the second number?
	पहली संख्या का 30 प्रतिशत दूसरी संख्या का 75 प्रतिशत है। पहली संख्या का दूसरी संख्या से लगभग क्या अनुपात है?
	A watch sold for Rs.1440 at 10 % loss, at what price it should be sold so as to earn 15% profit.
	एक घड़ी को 1440 रू. में बेचने पर एक व्यक्ति को 10 प्रतिशत हानि होती है तो वह उसे कितने रूपये में बेचे कि उसे 15 प्रतिशत लाभ हो?
	A dishonest dealer professes to sell his good at cost price, but he uses a weight of 800 gm. For one kg. Find his gain percent?
	एक बेईमान दुकानदार क्रय मूल्य पर बेचने का दावा करता है लेकिन वह 1 किलो की जगह 800 ग्राम ही तोलता है। उसका लाभ प्रतिशत बताइए।
	Cost price of 21 objects is equal to selling price of 15 objects. What is the profit?
	21 वस्तुओं का क्रय मूल्य 15 वस्तुओं के विक्रय मूल्य के बराबर है। लाभ प्रतिशत होगा?
	On selling 36 oranges one incurs a loss equal to selling Price of 4 oranges. What will be the loss%?
	36 संतेरे बेचने पर एक फल विक्रेता को 4 संतरों के विक्रय मूल्य के बराबर हानि होती है। उसका हानि प्रतिशत क्या होगा?
	A shopkeeper earns a profit equal to the selling price of 11 meter by selling 33-meter cloth. Find the profit percent.
	एक दूकानदार 33मीटर कपड़ा बेचता है और उसे 11 मीटर कपड़े के विक्रय मूल्य के बराबर लाभ हुआ । उसका लाभ प्रतिशत क्या होगा-
	A person sells two objects in Rs 5000 each. He sells one for 20% profit and another for 20% loss. Find his total profit or loss percent in the whole transaction.
	एक व्यापारी ने 5000 रूपयें प्रति वस्तु की दर से दो वस्तुएँ बेच दी। एक वस्तु को वह 20 प्रतिशत की हानि पर तथा दूसरी वस्तु को 20 प्रतिशत के लाभ पर बेच देता है। पूरे सौदे में उसे कितने प्रतिशत का लाभ या हानि की प्राप्ति हुयी-
	A fruit seller buys lemons two for Rs 1 and sells at 5 for Rs 3 rate. Find his profit percent.
	एक फल विक्रेता 1 रूपये में दो के हिसाब से नींबू खरीदता है तथा 3 रूपये में 5 के हिसाब से उन्हें बेचता है। उसका लाभ प्रतिशत है-
	A shopkeeper sells a TV set on discount of 8% of printed price and gains 25%. If print price was Rs 20,000 then, what was the cost price?
	एक दुकान ने अंकित मूल्य पर 8 प्रतिशत छुट देते हुए टी.वी सेट बेचा और 25 प्रतिशत लाभ कमाया। यदि अंकित मूल्य 20,000 रूपये था तो क्रय मूल्य क्या था?
	The ratio of the present age of A and B is 4:5. The sum of their age after 4 years will be 80 years. What will be the ratio of their age after 4 years?
	The ratio of the age of Ram and his son was 4:1 before 5 years. If the total of their present age is 45 years. What is the Present Age of son?
	Ten years back A’s age was half of B’s age. If their present age ratio 3:4. What is the sum of their present age?

